LL L L LLLL L L LLL A O O e 1 R R
o J/
o
(o0 I T —
O |- | _
- |- 1 -
~ u
I ! -
LI i
™M L —
20
Te}
S\
™
N —
-
n
<
- _
AV .
lcere vl e v b e v by 14
7 Y N b
o o o o
L | i L o | L |
(A93 s zwd)/suojoyd
LU LLLLL L LB B LI LR N O L AR
% —
o]
0
0
* —
E -
g 7
m —
Qo —

Te} —
a
(@]
o
a2 ]
N 7
o —
™ i
™ _
(o))

locere v doer e v e e o 1A

A

o o o o

i q—] — L o |

(A s)/s3uno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

- o ™
: 38
2 ooy
a o -
wn Te) (op]
| | |
+ + +
a ™ a — ™
T T T 99
[c3] =2 23] = [
— < © © a
LR S S o
N © O - -
Il
() 1]
-
© — Il
S ] >
o x| < E
g 2 = — 9
n [z, z ) z
LR LR LA LA
«ARRRANRERARRRRANRRRAL:

aNa —- o - QO

s[enpisay

1.00

0.10

ered = 0.357

Energy/keV



